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MET# 4 EE [SES:u T AR
REH -1.9 -2.4 -2.17 -2.1
AT -1.3 -2.8 -4.2 -1.8
LEH™ -2.9 -3.9 -2.9 -3.2
fiE] & -2.9 -3.3 — -3. 1
ER A -2.0 -3.2 — -2.5
AREATH -3.5 -3.7 - -3.6
AR -3.0 -3.6 -1.8 -3.0
INEETH -4.0 -4.0 -2.8 -3.7
FRATH -2.0 -3.6 — -3.0
B 1R -2.2 -4.3 - -3.2
P EH -1.9 -4.0 — -2.17
KHETH -2.5 -2.3 — -2.4
BRI -1.9 -4.8 — -2.6
FHm -3.0 -3.0 — -3.0
BRT -1.2 -2.5 — -1.4
{EATH -3.3 -3.4 — -3.4
Tt -4.7 -5. 1 — -4.9
RiEH -2.1 -4.0 - -3.0
ZEHH -1.2 -2.5 -4.0 -1.7
N T -1.6 -3.9 — -2.3
IR HET 2.0 0.0 — 1.5
{£14X BT -1.8 -3.6 — -2.4
T iR E T -3. 1 -3.3 — -3.2
=L RHE -2.8 -3. 7 — -3. 1
= Er T -4.4 -4.9 — -4.5
HimAT -2.8 -4.6 — -3.4
B S HT -2.3 — — -2.3
e 3 o A -1.8 — - -1.8
LIk -3.0 — — -3.0
=HH -2.0 — — -2.0
)1 BT -3. 1 -3.8 — -3.3
= FRET -1.9 -3.5 — -2.4
£ R HT -4.6 -4.5 — -4.5
K& Hy -4.2 -4.7 — -4.4
th B BT -3.4 -4.2 — -3.7
LK) -2.6 — — -2.6
HEH -2.3 -5.4 — -3.3
SR HT -4.0 -4.1 — -4.0
/N T -2.9 -3.2 — -3.0
W/ NHET -4.6 -5. 1 — -4.7
FIRERH -1.2 — — -7.2
15 IRHET -3. 1 — — -3. 1
B 1 T -4.6 — - -4.6

RHE -2.3 -3.2 -3.1 -2.6
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